SAMPLE PAPER 2018
CLASS IV
Reasoning:
If  BUS  is written as   CVT    , then SCHOOL will be written as 
Ans : TDIPPM
If COMPUTER is written as RETUPMOC , then BOTTLE is written ………..
Ans :  ELTTOB
If ABCDEF is written ZYXWVU then  CDEFGH is ……………
Ans : XWVUTS
If a man calls windows- doors ,  doors – roof , roof- floor , then what protects us from rain …..
Ans :  floor
if a man calls boxes – trunks , trunks – bags , bags – suitcase ….in what do we carry bottles 
Ans : suitcase.
A diary has 31 pages ,  then the middle page is …………… page 
Ans : 16th 
complete the pattern …………..; 15 , 30 , 45 , ………….. , ………………
Ans :  60 , 75 
complete the pattern , :   ABC1 , BCD2 , CDE3 , ……………….
Ans : DEF4
2 , 5 , 10 , ……………… ,……………
Ans : 17 , 26 
my fathers’ sister is my 
Ans : aunt
the  only daughter of my maternal grandfather is my ……………..
Ans : mother  
the only daughter of my grandfather’s only son is my ……….
Ans : sister 
A man walks 6 km east , then 7 km north , then 6 km west. how far is he from starting point .
Ans : 7 km north
Srilanka is situated ………………… to India .
Ans : south.
a man takes a     rotation in clockwise direction facing east. In which direction would he face .
Ans : west
21: 12 in 12- hour format is 
Ans : 9:12 p.m.
the hour hand makes …………… rotations in a day 
Ans : 2
the minute hand is …………… than hour hand .
Ans : longer.
subtract :: 5248-2639
Ans : 2609
two ropes A and B are of length 5 m and 3.5 m respectively. calculate their sum of length :
Ans : 8.5 m
239 cm is ………… less than 5 m
Ans : 261 cm
A man has to travel 624 km in 3 days . distance travelled per day is 
Ans : 208 m
A taxi charges Rs 9 per km as fare. How much will it charge to travel 112 km
Ans : Rs 1008
if a bus fills petrol of 17 l and petrol costs Rs 72/ litre , total cost 
Ans : Rs 1224
if l= 25 m b= 22 m , calculate   area of the rectangle .
Ans : 550 sq .m
If s= 16 m , calculate perimeter of square .
Ans : 64 m
If l= 27 m b= 32 m perimeter of rectangle 
Ans : 118 m 
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